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Question Number : 1 Question Id : 2012981663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Backup File has file format.

Options:
1 % .bash

> # .sh

4 % -backup

Question Number : 1 Question Id : 2012981663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 % .bash

o B sh
= o bak

backup

4 R

Question Number : 2 Question Id : 2012981664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In DES, the round-key generator creates sixteen kevs out of a 56-bit cipher key.

Options:
1 48 bit
> % 64 Dbit

= ® 16 bit

4 % 4 bit

Question Number : 2 Question Id : 2012981664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 3 Question Id : 2012981665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which modulation does the modulating signal control the frequency of the carrier?

Options:
1 % Phase modulation

- % Amplitude modulation

-  Frequency modulation

4 % Quadrature modulation

Question Number : 3 Question Id : 2012981665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 4 Question Id : 2012981666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Any hardware attached to a computer tower is known as:

Options:
1 ® CPU

> % Software
-  Peripheral

4 % Storage

Question Number : 4 Question Id : 2012981666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
| » CPU
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Question Number : 5 Question Id : 2012981667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following display types consumes less power?

Options:
1« LCD

5 % CRT

5 % Both LCD and CRT consume equal amount of power

4 » LCD does not consume any power

Question Number : 5 Question Id : 2012981667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 6 Question Id : 2012981668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A Kemnel is a/an:
Options:

, « Core part of an operating system

-~ % Operating system

- % Command application

4 % Hardware

Question Number : 6 Question Id : 2012981668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 7 Question Id : 2012981669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The process of adding new features to the existing drivers to enhance their functionality is known as:
Options:

, w installing drivers



> % Uprising drivers
-  Updating drivers

4, % repairing drivers

Question Number : 7 Question Id : 2012981669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 8 Question Id : 2012981670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The menu/ribbon contains the options to add symbols in a MS Word 2016 document.

Options:
1 % Home

- « Insert
3 # Review

4 # Mailing

Question Number : 8 Question Id : 2012981670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 2012981671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an output device?

Options:
1 % Plotter

-~ u Speech synthesiser
=z « MICR

, = Smart and intelligent terminal

Question Number : 9 Question Id : 2012981671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 10 Question Id : 2012981672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

High level language *C’ was invented by:
Options:

1 % Neumann

> # Pascal

= « Dennis Ritchie



4 % Donald Knuth

Question Number : 10 Question Id : 2012981672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 2012981673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
To access properties of an object, the mouse technique to use is:

Options:
| % Dragging

- % Dropping
5 « Right-clicking

4 % Shift-clicking

Question Number : 11 Question Id : 2012981673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 2012981674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is an area of memory assigned to store an e-mail message for the user.

Options:
1 % Outlook

- % Yahoo.com
3 « Mail box

4 % Postbox

Question Number : 12 Question Id : 2012981674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 13 Question Id : 2012981675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The process of preparing a floppy diskette for use is called

Options:
, w assembling
-~ % (ranslating

5 % parsing

4  formatting

Question Number : 13 Question Id : 2012981675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 14 Question Id : 2012981676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A computer consists of two or more computers and other devices that are connected for the purpose of sharing
data and programs.

Options:
1 « network
5 # System

= % workstation

4 % device

Question Number : 14 Question Id : 2012981676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 2012981677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A computer 15 & set of program instructions that can attach itself to a file. reproduce itzelf. and spread to other
files.
Options:

1 ® worm

> o VIrus
- % Irojan horse

4 % phishing scam

Question Number : 15 Question Id : 2012981677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 16 Question Id : 2012981678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A website address is a unique name that identifies a specific on the web.

Options:
1 #% web browser

- % PDA
3 « Website

4 % button

Question Number : 16 Question Id : 2012981678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 2012981679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A simple protocol used for fetching e-mail from a remote mail server is:

Options:
1 « POP3

> % FTP
3 % IMAP

4 % HTTP

Question Number : 17 Question Id : 2012981679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, v POP3

> u FTP
- % IMAP

4 % HTTP

Question Number : 18 Question Id : 2012981680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Material consisting of text and numbers is best presented as:

Options:
1 « atable slide

> % asection slide



- # atitle slide

4 % apicture slide

Question Number : 18 Question Id : 2012981680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 2012981681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

In Microsoft Excel. the contents of the active cell are displayed in:
Options:

1 % Footer bar

o

> # Tool bar
- % Task bar

4 « Formula bar

Question Number : 19 Question Id : 2012981681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 20 Question Id : 2012981682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which command can be used in Windows for testing the network connection?

Options:
1 % Domain

> o PiDg

2 % D8

4 % Locate

Question Number : 20 Question Id : 2012981682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
1 % Domain

-  Ping
= #® NS

4 % Locate

Question Number : 21 Question Id : 2012981683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To add a header or footer to your hand-out. you can use:

Options:
1 = Title Master
- % Notes Master

= « Hand-out Master

4 # Review Master

Question Number : 21 Question Id : 2012981683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 2012981684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The default page orientation in Excel is:

Options:

, % Landscape

> % Horizontal
5 « Portrait

4 % Vertical

Question Number : 22 Question Id : 2012981684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » T (Portrait)

4_&3’%

Question Number : 23 Question Id : 2012981685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
protects your system from hackers.

Options:



1 « Firewall
> % Intruder
« Backup

4 % Device drivers

Question Number : 23 Question Id : 2012981685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 24 Question Id : 2012981686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A modem:
Options:

-

translates only analog siznals from a computer into digital siznals that can travel aloag conventional telephone lines,

r

translates only digital signals from a computer into analog signals that can travel aloag conventional telephone lines.

- » demodulates digital signals from a computer.

4 « modulates and demodulates signals from computer to telephone line.

Question Number : 24 Question Id : 2012981686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 2012981687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a 9-pin print head, the pins are arranged in column(s).
Options:

1 = four

> # three
= % double

4 o Single

Question Number : 25 Question Id : 2012981687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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5 % o
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Question Number : 26 Question Id : 2012981688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Country domains are also known as:

Options:



1 % low-level domains

> u security level domains

3 o top-level domains

4 » (qualified domains

Question Number : 26 Question Id : 2012981688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 27 Question Id : 2012981689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is known as the father of Wikipedia.

Options:
; w Chris Hughes

o o Jimmy Wales

5 » Mark Zuckerberg

4 % Andrew McCollum

Question Number : 27 Question Id : 2012981689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 2012981690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which tests are carried out to know a network’s breaking point?

Options:
, = Recovery test

o o Btress test
- % Load test

4 % Crash and burn test

Question Number : 28 Question Id : 2012981690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 29 Question Id : 2012981691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to start a new line in the same cell in MS Excel?

Options:
; % CTRL +SHIFT+0O

> % CTRL+W



= v ALT +ENTER

4 % CTRL+SHIFT+U

Question Number : 29 Question Id : 2012981691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % CTRL + SHIFT + O
, » CTRL + W
- v ALT + ENTER

. % CTRL + SHIFT + U

Question Number : 30 Question Id : 2012981692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the key combination that calculates all the worksheets in all open workboolks, regardless of whether they have
changzed since the last calculation in MS Excel?

Options:
i ® CTRL+F9

> % SHIFT +F9
= « CTRL + ALT +F9

4 % ALT+F8

Question Number : 30 Question Id : 2012981692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. « CTRL + F9

o % SHIFT + F9

= v CTRL + ALT + F9



. % ALT + F8

Question Number : 31 Question Id : 2012981693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which file format is used to save ODF text document?
Options:

1 % ODFS

> % ODF
s o ODT

4 % ODTS

Question Number : 31 Question Id : 2012981693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

., » ODFS

. % ODF
s ¢ ODT

4 % ODTS

Question Number : 32 Question Id : 2012981694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Microsoft PowerPoint 97 to 2003 complete slide show?

Options:
. % PPT
> « PPS

- % PPTXS

4 % PPTS

Question Number : 32 Question Id : 2012981694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = PPT
> v PPS
5 % PPTXS

. % PPT.S

Question Number : 33 Question Id : 2012981695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to insert a hyperlink?

Options:
, % CTRL+H
5> ® CTRL+W

5  CTRL+K

4 % CTRL+1

Question Number : 33 Question Id : 2012981695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = CTRL + H
> % CTRL + W
- v CTRL + K

. % CTRL + |

Question Number : 34 Question Id : 2012981696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to turn ‘Track Changes’ on or off?

Options:
i ® CTRL+SHIFT+R



> % CTRL + SHIFT +C
= v CTRL + SHIFT+E

4 % CTRL+SHIFT+T

Question Number : 34 Question Id : 2012981696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

. % CTRL + SHIFT + R

, # CTRL + SHIFT + C
- ¢ CTRL + SHIFT + E

. % CTRL + SHIFT + T

Question Number : 35 Question Id : 2012981697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to close the reviewing pane if it is open?

Options:
i ® ALT+SHIFT+0O

5 « ALT+SHIFT +C
- % ALT+SHIFT+E

4 % ALT+SHIFT+P

Question Number : 35 Question Id : 2012981697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % ALT + SHIFT + O

» ¢ ALT + SHIFT + C

- % ALT + SHIFT + E



. % ALT + SHIFT + P

Question Number : 36 Question Id : 2012981698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to set 1.5 line spacing in MS Word?

Options:
; ® CTRL +2
> % CTRL+1
s « CTRL +5
4 % CTRL+3

Question Number : 36 Question Id : 2012981698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % CTRL

.I_

2

+
. N

., % CTRL

¢ CTRL + 5

+
wa

. % CTRL

Question Number : 37 Question Id : 2012981699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to add or remove one line space preceding a paragraph in MS Word?

Options:
, % CTRL+5
>  CTRL + 0 (Zero)

- % CTRL+1

4 % CTRL+2

Question Number : 37 Question Id : 2012981699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

. % CTRL + 5

. » CTRL + 0 (7=

3 % CTRL + 1

. % CTRL + 2

Question Number : 38 Question Id : 2012981700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to preview a mail merge in MS Word?

Options:
, % ALT+SHIFT+M
5  ALT+SHIFT+K

5 % ALT+SHIFT+N

4 % ALT+SHIFT +P

Question Number : 38 Question Id : 2012981700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o L i = =~ LA
MS Word & AF A T [Tl F & T il FASAT F0 g7

Options:

% ALT + SHIFT + M
-, « ALT + SHIFT + K
2 % ALT + SHIFT + N

. # ALT + SHIFT + P

Question Number : 39 Question Id : 2012981701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which tab of OpenOffice Writer is the Exchange Database option available?
Options:

1 % File



> # View
= % Insert

4 & Edit

Question Number : 39 Question Id : 2012981701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
9T HIBE ST (Open Office Writer) & 8 &8 # Toa=is 2oed FFeT 39eey 872

Options:

1. % HER

Question Number : 40 Question Id : 2012981702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which menu can vou find features like Slide Orientation and Background Style in MS PowerPoint 20107

Options:
1 % Insert Menu

> of Design Menu

5 % Tools Menu

4 % Slide Show Menu

Question Number : 40 Question Id : 2012981702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
™ MS PowerPoint 2010 & frm #5 & o =mer sfifaeoms st goowfe o9 Sl Rdeere o
Options:

c i ‘ ﬁ?!\



Question Number : 41 Question Id : 2012981703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In keyboard, which component translates a code into its corresponding character?

Options:
, « Keyboard driver

» » Keyboard controller

- » Ieys converter

4 % Memory

Question Number : 41 Question Id : 2012981703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
$EE H FiF TT ISk FIT F 5944 FEOT IUT H FOIRT FLT &7

Options:
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Question Number : 42 Question Id : 2012981704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the thickness of a CD?
Options:

1 & 1.2 mm

> % 1.5mm

= % 0.5mm



4 % l4mm

Question Number : 42 Question Id : 2012981704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

IS & At Bhae 2 £7

Options:

v 1.2 i

Question Number : 43 Question Id : 2012981705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
affects the boot sector of floppy disk.

Options:
1 « Boot Virus

> % Macro Virus

- » Directory Virus

, ® Polymorphic

Question Number : 43 Question Id : 2012981705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 44 Question Id : 2012981706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An intentionally disruptive program that spreads from program to program or from disk to disk is known as a:
Options:

1 % bomb hoax

5 o Virus

- % bomb sequence

4 % Jjacking

Question Number : 44 Question Id : 2012981706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 45 Question Id : 2012981707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

15w type of a data storage typically used in the storage-ares network (SAN] envirommnents whene data 15 stored m
volumes, also referred to as blocks.
Options:

, « Block storage

~ % Unit storage
5 % Full storage

4 = Local storage

Question Number : 45 Question Id : 2012981707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 46 Question Id : 2012981708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
_ chart is used in a topographic map in which colours and patterns indicate areas that are in the same range of
values in M3 Excel,
Options:
1 ® Pie

> « Surface
2 ® XX

4 % Stock

Question Number : 46 Question Id : 2012981708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e W TANT U U TR O (ST B J R AT § S O7 UE e O #E
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Options:
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Question Number : 47 Question Id : 2012981709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How can a file be saved using Quick Access Toolbar if the *Save” button is not available in the Quick Access Toolbar?



Options:
; w File>Drag open option to quick access tool bar > Save document

- % Double click on Quick Access Toolbar

-  Click down arrow on the right side of Quick Access Toolbar > Click Save > Save document

4 » File > Save > go to Quick Access Toolbar

Question Number : 47 Question Id : 2012981709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 48 Question Id : 2012981710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When a new pivot table is created. it is automatically formatted with the layout. by default.

Options:
1 % outline form

-  compact form
- » design form

4 % tabular form

Question Number : 48 Question Id : 2012981710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 49 Question Id : 2012981711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many versions of USB were available till 20127
Options:

1 ® 2

Question Number : 49 Question Id : 2012981711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2012 I USB & faae T&0T 39e0=y o7
Options:

1_%.32
>« 4
3_&3?

4 % D

Question Number : 50 Question Id : 2012981712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
USB 3.1 was introduced in which year?

Options:



i % 2008
> % 2010
s « 2013

4 % 2016

Question Number : 50 Question Id : 2012981712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

USB 3.1 # forw a o= foram smar am?

Options:

. % 2008
., % 2010
- v 2013

. % 2016

Question Number : 51 Question Id : 2012981713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which version of Internet Explorer gives the facility of side by side browsing?
Options:

, % Internet Explorer 10

-  Internet Explorer 11

- » Internet Explorer 8

4 » Internet Explorer 7

Question Number : 51 Question Id : 2012981713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FTAT TERSART (Internet Explorer) 1 FF T FF0T UF A1 (side by side) 3T F14 F giawr
Ve I &7

Options:

| % ST TFRECART 10




, » TEAC TEETERR 11

. x $E{AC THHESANT 8

, % ST THISART 7

Question Number : 52 Question Id : 2012981714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Internet Explorer 11, mode is enabled by default.

Options:

| « enhanced protected

> % real
- » privileged

4 # virtual

Question Number : 52 Question Id : 2012981714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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READING COMPFREEHERMSTONM

Section Id : 201298173

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Pand: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 201298173
Question Shuffling Allowed : Yes

Question Id : 2012981715 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Speech by Hillarvy Rodham Clinton, at the Plenary Session of the
Fourth World Conference on Women, conducted by the UN,
September 5§ 1993 at Beijing

I would like to thank the Secretary General for inviting me to be part of
this important United Nations Conference on Women. This is truly a
celebration, a celebration of the contributions women make in every
aspect of life — in the home, on the job. in the community as mothers,
wives, sisters, daughters, learners, workers, citizens, and leaders.

It is also a coming together much the way women come together
everyday in every country. We come together in fields and factories, in
village markets and supermarkets, in living rooms and board rooms.
Whether it is while playing with our children in the park, or washing
clothes in a river, or taking a break at the office water cooler, we come
together and talk about our aspirations and concern. And time and
again, our talk turns to our children and our families. However
different we may appear, there is far more that unites us than divides
us. We share a common future, and we are here to find common
ground so that we may help bring new dignity and respect to women
and girls all over the world, and in so doing bring new strength and
stability to families as well.

Those of us who have the opportunity to be here have the responsibility
to speak for those who could not. As an American, I want to speak for
those women in my own country, women who are raising children on
minimum wage, women who can’t afford health-care or child-care,
women whose lives are threatened by violence, including violence in
their own homes.

We need to understand there is no one formula for how women should
lead their lives. That is why we must respect the choices that each
woman makes for herself and her family. Every woman deserves the
chance to realize her god-given potential. But we must recognize that
women will never gain full dignity until their human rights are
respected and protected.

Sub questions

Question Number : 53 Question Id : 2012981716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to the speaker, despite differences among them
what do all women share?



Options:
; w Their gender

> « A common future

5 % Their family concerns

, % The aspirations they have

Question Number : 54 Question Id : 2012981717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How does the speaker describe her role at the Conference?
Options:
She has to speak clearly about the condition of uneducated
1 % women

- % She has to make changes in the lives of women
w She has to discuss the problems of working women

She has to speak on behalf of all the women who could not
4 « be present at the conference

Question Number : 55 Question Id : 2012981718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which words tell us that the speaker is NOT making a distinction
‘between women in the cities and women in the villages?

Options:
1 # Children and families

-~ % Living rooms and board rooms

-  Village markets and supermarkets

4 % Home and office

Question Number : 56 Question Id : 2012981719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does the speaker aim to do for all women?

Options:



1 % Unite them at conferences

> of Bring dignity and respect to them

5 » Provide gainful employment to them

4 % Address their personal problems

Question Number : 57 Question Id : 2012981720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which field of activity does the speaker NOT focus on?
Options:

, w» Economics and politics

> % Legal and human rights

= % Education and healthcare

i P Personal care and grooming

Question Id : 2012981715 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 2012981716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 54 Question Id : 2012981717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 55 Question Id : 2012981718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 56 Question Id : 2012981719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 57 Question Id : 2012981720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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CUANTITATIVE APTITULE
Section Id : 201298174
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions; 6



Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 201298174
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012981721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value should come in place of the question mark (?) in the following question? (You are NOT
expected to calculate the exact value.)

18% of 609 +27.5% of 450 =7
Options:
. % 220

5 o233

s % 267

Question Number : 58 Question Id : 2012981721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
f=ferfgs v & woa R (7) & TS W 3R JE9 F907 gl 9TieT? (3TUH WEw A
TUTAT F4= hl SFAIE A2l S AaT g1)

18% of €09 + 27.5% of 450 = ?
Options:

% 220
- & 233
. % 267

L % 248

Question Number : 59 Question Id : 2012981722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The value of which of the following fractions is less than 20%?

Options:



o oen

]
%
a2

Question Number : 59 Question Id : 2012981722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
S

1 ® 6

| 2

L ra

2
I

=

4.«

Question Number : 60 Question Id : 2012981723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What will come in place of question mark (?) in the following number series?

7,20, 46, 98, 202, ?
Options:
;. ® 420

5 410



Question Number : 60 Question Id : 2012981723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

PR =T e § v BEa (?) & Toa W & gem?
7, 20, 46, 98, 202, 7

Options:

, % 420
.« 410
s % 310

4 % 320

Question Number : 61 Question Id : 2012981724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T i
The average speed of a car is 1- fimes the average spead of a bus. A tractor covers 575 km in 23 hours. How mwich
a
distance will the car cover in 4 hours if the speed of the bus is twice the speed of the tractor?

Options:
1 #% 340 km

> % 480 km
3 « 360 km

4 % 450 km

Question Number : 61 Question Id : 2012981724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
vF T F dEE o 37 & dwe 9 oL AT ¥ U §FET 23 W F 575 T gl A wan &
ofx aw £ 7y daex § 0T F A A 7 4 9 F FW D g aw =

Options:

. % 340 far

o » 480 TR
- v 360 T

., = 450 far



Question Number : 62 Question Id : 2012981725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Raman’s present age is three times his daughter’s and nine-thirteenth of his mother s present age. The sum of the
present ages of all three of them is 125 years. What is the difference between the present ages of Raman's daughter and
Eaman's mother?

Options:
| % 45 years

5 % 40 years
5 50 vyears

4 % Cannot be determined

Question Number : 62 Question Id : 2012981725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

Question Number : 63 Question Id : 2012981726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A container has 60 litre (L) of mixture of milk and water in ratio 3;2. How much water should be added to the mixture
30 that the ratio changes to 2:37

Options:
1 % 20L

5 o 30L

4 % 40L

Question Number : 63 Question Id : 2012981726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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[ % 20 L

> v 30 L

2 % 35L

L% 40 L
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Section Id :
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Number of Questions;

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

201298175
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201298175
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Question Number : 64 Question Id : 2012981727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Study the following arrangement carefully and answer the guestion given below:

TY2=8£+¢ EGMoTSHPOKLF @WQLl3i#CDg

How many such non-alphanumeric symbols are there mn the above arrangement each of which 1s either mmmediataly
tollowed by a number or immediately preceded by a lemer. but NOT both?

Options:

> % One
= % Two

4 « Three



Question Number : 64 Question Id : 2012981727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

 x T

E_Qw
3_&333-

4 v T

Question Number : 65 Question Id : 2012981728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the given letter series, which letter is sixteenth to the right of the letter which is fourth to the left of I?

ABCDEFGHIJELMNOPQRSTUVWXYZ
Options:

1_535
2_$3T
2« U

4 ® V
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ABCBDEFGHIJKLNNOPOQRSTUNWIYZ
Options:

1%&5

E%ST
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Select the analogous word pair from the options.

Mellifluous : Cacophony

Options:
1 # Florid : Embellishment

-~ % Thrifty : Parsimony
Fragrant : Noisomeness

3

4 % Dulcet : Euphony
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A word analogy is given below, of which two words are missing, which are marked by I and II. For those two missing
words, four options are also piven. Select the option that gives the combination of the right words to complete the
analogy,

I'; Ship ;: Platform : 11

() (1) Captions (1) Quay  (3) Port (4] Shore
(I} (A} Coolie (B) Station (C) Train (D) Bench
Options:
1. v 2C

o B 1A
T B iB

4 B 4D
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(b): (A) F=r (B) =¥+ (C) 37 (D) &=

Options:

1 v 2C
o R 1:61.
T ® 3B

4 ® 4D
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Choose the odd one from the given options.

Options:
1 + Potassium

> # Silicon



= % Zirconium

4 % Gallium
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In the following question, & word is represented by only one set of numbers as given in any one of the altermatives. The
sets of numbers given in the alternatives are represented by two classes of letters as in the two given matrices. The
columns and rows of Matrix [ are numberad from O 1o 4 and those of Manix I from 5 to 9. A letter from these matrices
can be represented frst by its row munber and then the columnn manber e.g. 8 can be represented by 14, 21 cte,
Similarly yon have to identify the correct set for the word given in the question.

Polatriy | hdatrix 11

o [T (2 [3 |3 T 7 (5 [0
uauai'rﬂ iR ET
1T'H.-1|.iEE- 6 K |L|P|C|R
?F:._H'I"iT-T.d. 710 R I|K |[L [P
T (H A |B ls § |L [P |0 R |K
% (8 |T Hi..ﬂ. E 5 R|[E|L [P |0
LEST
Options:

| v 97.32.21,34

, u 87.3221.31

4, % 66.00,.20,34
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, = 66,00,20,34
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"Panchatantra’ was written during the rule of which empire?

Options:
, % Maurya empire

> » Kanishka empire
5  Gupta empire

, w Harsha empire
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Who amongst the following is the author of the famous book *A Passage To India’?

Options:
1 % Mark Twain
» » Nayantara Sehge

= # Nirad C. Chaudhuri

4 « E.M. Forster
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A method used to distinguish DNA of one individual from another is:

Options:
, » DNA sequencing

- » Hybridization
z # CDNA

4 « Restriction fragment length polymorphism
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Consider the following statements in respect of financial emergency under Article 360 of the Constitution of India;

1. Proclamation of financial emergency issued shall cease to oparate at the expiration of two months, unless, before
the expiration of that penod, it has been approved by the reselutions of both houses of parliament.
2. Mo emerzency under article 360 has been issued so far.
Which of the staternent given about 15/ are commect?
Options:
; » lonly

> w 2only
- « Both1land2

4 % Neither 1 nor 2

Question Number : 73 Question Id : 2012981736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ANE & WA ¥ Hegoe 360 F 7ET B aaee & gay 7 At et W EEw

1. 778 BT or BT amoreEETe & oiwom 2 e At o mevfare 1§ BT g 2 =t
w9 7% & 30 3 & gEta @ 9, W THE ¥ I §eA & JEAE] 2R HepHiaa #d
ok #rzm 2h

2, HF 7% oW 360 & FEd FE HOAE SAT Ja Sar i gl

few T Fua H FiF O FUF TeT 27
Options:

1_%%1

o B WE
s v 1 3R 2 a=r
Lw dar 1A aTE2

Question Number : 74 Question Id : 2012981737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following is an easy way of providing credit to the farmer community?
Options:

1 + Kisan Credit Card



- % Indira Vikas Patra

- % National Saving Certificates

4 » Loan against gold
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Aretes are sharp ridges which develop between the adjacent

Options:

|« Cirques

> % Roche moutonnee
= % Medial moraines

4 % U-shaped valley
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Question Number : 77 Question Id : 2012981740 Question Type: TYPING TEST Display Question Number : Yes

The higgest problermn of global warrming is undoubtedly a huge water depreciation on earth. This is why it is
very irmportant to understand the phrase that says conserve water save earth. Pure water is the prirme source
of all necessities required for a healthy life. Although major proportion of Earth is covered by water, yvet only
one percentage of water is ideal for drinking. Hence, every individual must lock for solutions to conserve
water. Better and less use of water is the best way to prevent the worst situation of drought on earth. Using
just sirmple techniques, we can preserve water and save life on earth. We can save it on every second of our
life. & small step can add hundreds of gallons in water savings. Here are s5ome points we need to focus in our
daily life. Maintain a little precantion during routine activities, like turn off the tap while brushing, washing
hand and shawving. This can save a huge quantity of approximately one hundred sixty gallon of water per
mornth. Use of bucket instead of taking shower will also do the needful regarding saving water. Watering plants
in morning and evening time instead of afternoon is always the better solution to save water. Planting trees in
Spring season can also be added to the solution. Instead of washing the car with pipe, it is always ideal to use
a bucket for optimum water utilization. Always use the washing machine and dishwasher when they are fully
loaded. It will always help you save huge amount of water. Apply the correct process of water recycling in your
home. For example collect the rainwater and recycle it in other household activities, One can recycle the water
gjecting from water purifying systermns installed at home. Conserving water is something that makes nature
and our future safe and secure. We all know that day by day the level of water on earth is declining. It is
basically due to this our nature is badly suffering. [t should be better to learn and apply how to Cconserve water
and keep its purity for the healthy life of our future generation. After seeing the current situation of water
available on the planet, each and every single drop of water is needed to be saved now. We need to understand
that water is the first need for anyone and conserving water is the hot topic today. [t simply means making use
of water in an appropriate and judicious manner. Since our lives depend entirely on water, it is our duty to
think about water conservation and how we can contribute to it. S0, we must act as responsible children of the
rmother Earth and conserve water.
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